Lakewood Massacre
RULES: Practical Shooting Handbook, Latest Edition	COURSE DESIGNER: Joe Huffman
	START POSITION:
All strings: Handgun is loaded and holstered as per ready condition in rule 8.1.1 and 8.1.2.
String 1: Starting in Box A hands relaxed at sides.
String 2: Sitting at chair with one hand on the computer keyboard and one hand holding the coffee cup. Cup must remain sitting on the table prior to signal.
String 3: Standing in Box B hands relaxed at sides.

	STAGE PROCEDURE
String 1: On signal draw and engage T1 -> T4 with at least one round each. Shooter may leave box after start.
String 2: On signal draw and engage T5 with at least six rounds. Shooter may stand and move either before or after drawing.
String 3: On signal draw and engage T6 with at least six rounds. Shooter must remain in box for all shots.
	SCORING
	SCORING:	Comstock, 16 rounds,80 points
	TARGETS:	6 IPSC 
	SCORED HITS:	Best 1 per T1->T4, Best 6 per T5 and T6.
	START-STOP:	Audible - Last shot




	SETUP NOTES:
T1 -> T4 are 3’ 6” at the shoulder.
In string 2 the no shoot targets at the table are 3’ 6” at the shoulder.
In string 3 all no shoot targets are 3’ 6” at the shoulder.
All other targets of all types are 5’ at the shoulder. 

	
	RO NOTES: String 1 is the approximate situation seen by Maurice Clemmons when he murdered four Lakewood Police Officers on November 29, 2009. String 2 is the approximate situation as seen by one of the police officers.
String 3 is the approximate situation as seen by one of the baristas.
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